
52 Math Puzzles for K – 3
● These puzzles have links to longer puzzle descriptions and solution notes. 
● The first few slides have examples of models of possible classroom slides.
● Each slide has animated hints if you want to use them. These hints often 

have optional solution strategies that provide insights but are not needed for 
having fun with the puzzles.



Example Slide 1

Choose 

Your 

Challenge

Puzzle – Ace Clubs Puzzle – 3 Clubs

https://drive.google.com/file/d/1a8gs3iKc7L61ApDVennbanlhtjYF7aY0/view?usp=drive_link
https://drive.google.com/file/d/1RWM4xHX7KDRlaiZl9KRDY-UprVQD97Ah/view?usp=drive_link


What is your strategy?

What are good places to 
start on this puzzle?

Example Slide 2

Puzzle – Ace Clubs

https://drive.google.com/file/d/1a8gs3iKc7L61ApDVennbanlhtjYF7aY0/view?usp=drive_link


Puzzle – Ace Clubs

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 7 and 0. They must go together.

That determines two pairs next to the 7 and 0. 
The 2 and 5 go together, and the 4 and 3 go 
together.

https://drive.google.com/file/d/1a8gs3iKc7L61ApDVennbanlhtjYF7aY0/view?usp=drive_link


Puzzle – Ace Diamonds

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 5 and 1 in the upper left, the 4 and 2 
in the upper right, and the 3 and 3 in the lower 
right.

https://drive.google.com/file/d/1dtA8ZIBMRFFyUOWqf5-ap9xbBg482bGc/view?usp=drive_link


Puzzle – Ace Hearts

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 5 and 1 in the upper left, and the 6 
and 0 in the lower right.

https://drive.google.com/file/d/12PLPSFfV71yTUzFKch_UbtHjbMzyXY9o/view?usp=drive_link


Puzzle – Ace Spades

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 6 and 1 in the upper left, and the 6 
and 1 in the lower left.

https://drive.google.com/file/d/1ZNe4ZNKjGqK-8I5-qvx6qjnytBksZ4Av/view?usp=drive_link


Puzzle – 2 Clubs

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 5 and 4 in the upper right, the 7 and 
2 just below that, and the 5 and 4 just to the 
left of those two pairs.

https://drive.google.com/file/d/1iVh5_lNo0lciZKVc9A3jTGdlAZ3dvey0/view?usp=drive_link


Puzzle – 2 Diamonds

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 7 and 1 in the lower right, the 3 and 
5 just above that, and the 2 and 6 in the upper 
left.

https://drive.google.com/file/d/1q7HT5D6gpqywkvrwmkZCd7NKn3sUOL_I/view?usp=drive_link


Puzzle – 2 Hearts

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 8 and 0 in the upper left, and the 7 
and 1 in the lower right.

https://drive.google.com/file/d/1Ox6_HYuUaxMPQZyHtNstgPyUwb_XFtVx/view?usp=drive_link


Puzzle – 2 Spades

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 7 and 2 on the left side, and the 8 
and 1 in the lower left.

https://drive.google.com/file/d/1IbqXFAsF8UXi-0w_hJybVogPuQQUchbc/view?usp=drive_link


Puzzle – 3 Clubs

Hints:

In a puzzle like this, it often helps to find a way to put 
together several of the same sum so that it involves 
all the numbers – and look at the situation in two 
ways.

Add up the three circles not concerning yourself with 
overlaps. That adds up to three times the sum of one 
circle. It is also the sum of all the numbers plus the 
two numbers in the overlap regions. That means that 
3 times the sum of a circle is 15 plus the two 
overlaps. 

The smallest the two overlaps can add up to is 1 + 2, 
and the largest is 4 + 5. So, the sum for each circle is 
either 6, 7, or 8.

https://drive.google.com/file/d/1RWM4xHX7KDRlaiZl9KRDY-UprVQD97Ah/view?usp=drive_link


Puzzle – 3 Diamonds

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Sometimes there is no place that qualifies. On 
this puzzle, the 4 on the right side has no good 
match other than the 6 below it. After that, the 
2 - 3 - 5 trio along the top must go together.

https://drive.google.com/file/d/1FVy05wLEfJtNe-KDVNOy0AH_KB6P23FZ/view?usp=drive_link


Puzzle – 3 Hearts

Hints:

In a puzzle like this, it often helps to find a way to put 
together several of the same sum so that it involves all the 
numbers – and look at the situation in two ways.

Add up the three sides not concerning yourself with 
overlaps at the corners. That adds up to three times the 
sum of one side. It is also the sum of all the numbers plus 
the three numbers in the corners. That means that 3 times 
the sum of a side is 21 plus the three corners. 

The smallest the three corners can add up to is 1 + 2 + 3, 
and the largest is 4 + 5 + 6. So, the sum for each side is 
either 9, 10, 11, or 12.

If you start with one solution, you can arrive at another by 
subtracting all the entries from 7. This reduces the search 
to just finding answers for sums 9 and 10.

https://drive.google.com/file/d/1UNIzEpGI_suckLWxo1WWOtipWsOUGDXv/view?usp=drive_link


Puzzle – 3 Spades

Hints:

Look for very large or very small numbers, 
especially near corners and sides – they may 
only have one choice.

Start with 9 and 1 in the lower right, the 5 and 
5 above that, and the 3 and 7 to the left of 
those two pairs.

https://drive.google.com/file/d/1QDP5VPBqUkNQuPaU3puPMuRioLy8mzN6/view?usp=drive_link


Puzzle – 4 Clubs

Hints:

In a puzzle like this, it often helps to find a way to put 
together several of the same sum so that it involves all 
the numbers – and look at the situation in two ways.

Add up the three circles not concerning yourself with 
overlaps. That adds up to three times the sum of one 
circle. It is also the sum of all the numbers plus the three 
numbers in the overlap regions. That means that 3 times 
the sum of a circle is 21 plus the three overlaps. 

The smallest the three overlaps can add up to is 1 + 2 + 
3, and the largest is 4 + 5 + 6. So, the sum for each 
circle is either 9, 10, 11, or 12.

If you start with one solution, you can find another by 
subtracting all the entries from 7. This reduces the 
search to just finding answers for sums 9 and 10.

https://drive.google.com/file/d/1rLW7Tsh9cvgR7NQFrPr_re8lVtpaJJA_/view?usp=drive_link


Puzzle – 4 Diamonds

Hints:

In a puzzle like this, it often helps to find a way to put 
together several of the same sum so that it involves all 
the numbers – and look at the situation in two ways.

Add up the three lines not concerning yourself with 
overlap in the center. That adds up to three times the 
sum of one line. It is also the sum of all the numbers 
plus the center two extra times. That means that 3 times 
the sum of a line is 28 plus two times the center. 

The smallest the center can be is 1, and the largest is 7. 
So, the sum for each line is either 10 (center 1), 12 
(center 4), or 14 (center 7).

If you start with one solution, you can find another by 
subtracting all the entries from 8. This reduces the 
search to just finding answers for sums 10 or 12.

https://drive.google.com/file/d/1nS31ExcwC2CzwD65ufx3OZnocTIWjyJE/view?usp=drive_link


Puzzle – 4 Hearts

Hints:

In a puzzle like this, it often helps to find a way to put 
together several of the same sum so that it involves all 
the numbers – and look at the situation in two ways.

Add up the three lines not concerning yourself with 
overlaps in the corners. That adds up to three times the 
sum of one line. It is also the sum of all the numbers 
plus the three numbers in the corners. That means that 
3 times the sum of a line is 45 plus the three corners. 

The smallest the three overlaps can add up to is 1 + 2 + 
3, and the largest is 7 + 8 + 9. So, the sum for each line 
is either 17, 18, 19, 20, 21, 22, or 23.

If you start with one solution, you can find another by 
subtracting all the entries from 10. This reduces the 
search to finding answers for sums 17, 18, 19, and 20.

https://drive.google.com/file/d/1pCh0AkV7r-K-s-AW78K7jwQgkad7jml9/view?usp=drive_link


Puzzle – 4 Spades

Hints:

There are many solutions. 

Notice that the top number is the sum of the 
two bottom corners plus two times the middle 
bottom number.

For more of a challenge, find the Sum Pyramid 
with six numbers that has the smallest value 
for the top number.

https://drive.google.com/file/d/1BstAAWdVfNax9zHu-RlaxuhBduuk1KqS/view?usp=drive_link


Puzzle – 5 Clubs

Hints:

In a puzzle like this, it often helps to find a way to put 
together several of the same sum so that it involves all 
the numbers – and look at the situation in two ways.

Add up the three circles not concerning yourself with 
overlaps. That adds up to three times the sum of one 
circle. It is also the sum of all the numbers (28), plus the 
three numbers in the single overlap regions, plus twice 
the center number.

The smallest the the four overlaps can be is (1 + 1) + 2 
+ 3 + 4 = 11, and the largest is (7 + 7) + 4 + 5 + 6 = 29. 
So, the sum for each circle is between 13 and 19.

If you start with one solution, you can find another by 
subtracting all the entries from 8. This reduces the 
search to just finding answers for sums 13 to 16.

https://drive.google.com/file/d/1sTZ7afH38SvhF_8-2r-66WtcQ6nSelHS/view?usp=drive_link


Puzzle – 5 Diamonds

Hints:

In a puzzle like this, it often helps to find a way to put 
together several of the same sum so that it involves all 
the numbers – and look at the situation in two ways.

Add up the four lines not concerning yourself with 
overlaps. That adds up to four times the sum of one line. 
It is also the sum of all the numbers (45), plus three 
times the central number.

The smallest the center can be is 1, and the largest is 9. 
So, the sum for each line is between 12 to 18.

If you start with one solution, you can find another by 
subtracting all the entries from 10. This reduces the 
search to finding answers for sums between 12 and 15.

https://drive.google.com/file/d/1t-c3gxkIJkHkfF6g1uC0qDenY-RO2l1-/view?usp=drive_link


Puzzle – 5 Hearts

Hints:

Be organized! The challenge is to identify the 
shapes and sizes of the different types of 
triangles and trapezoids that occur, and then 
count the number for each type.

https://drive.google.com/file/d/1s7Rl3h-H5PSIMJdivooUfZipsiWCiDMt/view?usp=drive_link


Puzzle – 5 Spades

Hints:

There are many solutions. 

After a few are done, notice that the top 
number is the sum of the two bottom corners 
plus three times the sum of the two middle 
bottom numbers. Why?

For more of a challenge, find the Sum Pyramid 
with ten numbers that has the smallest value 
for the top number.

https://drive.google.com/file/d/1mH25OToKviNQ9HI9YEE1Q3WwxSx-Vfaf/view?usp=sharing


Puzzle – 6 Clubs

Hints:

The two numbers 1 and 9 are different from 
the rest for this puzzle – why?

What are good places for 1 and 9 to go?

https://drive.google.com/file/d/1KCQ0qmFItbiI0InV2K-4MCT7_E0S8VQ5/view?usp=drive_link


Puzzle – 6 Diamonds

Hints:

The sum of the numbers from 1 to 8 is 36.

Half the numbers are used in one direction, 
and half in the other direction; so the sum for 
each line is 18. There are lots of solutions.

https://drive.google.com/file/d/1Dolv1VKXOcKhohKwLESVtv1z6XJSnRfO/view?usp=drive_link


Puzzle – 6 Hearts

Hints:

Many of the shapes are rotated or flipped from 
the way you would expect.

Be organized! The challenge is to identify the 
shapes and sizes of the different types of 
triangles, trapezoids, and parallelograms that 
occur, and then count the number for each 
type.

https://drive.google.com/file/d/137q_bHDOrahijUCu8UywXgTbFJkycOL-/view?usp=drive_link


Puzzle – 6 Spades

Hints:

For a six-number pyramid, the top number will 
always be the sum of the two bottom corners 
plus twice the bottom number in the middle.

So, 15 - 3 = 12 is the bottom left corner plus 
twice the bottom middle. The possibilities for 
12 are 2 + 2(5), 4 + 2(4), 6 + 2(3), 8 + 2(2), 
and 10 + 2(1). Which ones work out?

https://drive.google.com/file/d/1CSqbWPKeiDLk4UKBoJMH3FbUsJRvmKVm/view?usp=drive_link


Puzzle – 7 Clubs

Hints:

The two numbers 1 and 8 are different from 
the rest for this puzzle – why?

What are the best places for 1 and 8 to go?

https://drive.google.com/file/d/1rFzKdd3XGzQZj2pSOmdjyiso5Md2L7yf/view?usp=drive_link


Puzzle – 7 Diamonds

Hints:

Which side of this equation is the best at 
narrowing the search?

There are three solutions. Can you find them 
all? 

Is there a solution only using the numbers 
from 1 to 5?

https://drive.google.com/file/d/1sUYN8aW7fwzRhh7e4MVVJ62PWJyfZgjA/view?usp=drive_link


Puzzle – 7 Hearts

Hints:

For the left figure, what shape can you make 
by putting two of the red triangles together?

For the right figure, don’t try to do it all at once. 
Start with putting the red shape in the upper 
left corner. There is only way to put it there 
that leads to a solution.

https://drive.google.com/file/d/16n17Guu6_lPgxJ3u4wVscOg_dcO2mqHh/view?usp=drive_link


Puzzle – 7 Spades

Hints:

There are only four possibilities for the bottom 
left corner – 1 and 5, 5 and 1, 2 and 4, and 4 
and 2.

Recall from the 5 of Spades puzzle – the top 
number is the sum of the two bottom corners 
plus three times the sum of the two middle 
bottom numbers.

There are three solutions.

https://drive.google.com/file/d/1cBBEl_2nYbDaNxF3g8wAe0DTqQGkDXxe/view?usp=drive_link


Puzzle – 8 Clubs

Hints:

25 = 12 + 13 is the sum of the left 2 by 2 and the 
right 2 by 2. This involves the sum of all the 
numbers 1 to 6 (21), plus the two middle numbers 
an extra time. The two middle numbers must add 
up to 4.

There are eight solutions which are essentially the 
same – each pair in a column can be flipped 
without changing the rest of the puzzle.

https://drive.google.com/file/d/1LWo7OgwmKKk3pgUnyo4nXoMwCWPnCsxt/view?usp=drive_link


Puzzle – 8 Diamonds

Hints:

As in the 7 of Diamonds puzzle, which part of 
this is the best at narrowing the search?

What goes wrong if the difference on the right 
side is six or smaller?

https://drive.google.com/file/d/19t05g_4LwOsNRb7qlL_NRS-hrLKl1llm/view?usp=drive_link


Puzzle – 8 Hearts

Hints:

The figure on the left can be broken into three 
triangles or three trapezoids. The figure on the 
right can be broken into four triangles or three 
trapezoids.

https://drive.google.com/file/d/1OAGtd3k0_UwrQO_b600BbgWLmR0ZqDSz/view?usp=drive_link


Puzzle – 8 Spades

Hints:

The top row must be 1 and 2.

The 1 cannot go in the column that adds up to 9.

https://drive.google.com/file/d/1eaYbUQnoUnX4AwABU7LMsxRxRyW_yM23/view?usp=drive_link


Puzzle – 9 Clubs

Hints:

For the upper right 2 by 2 to add up to 17, the 
central square must be 3.

With the 3 in the center, for the lower right 2 
by 2 to add up to 22, the two bottom right 
squares must be 6 and 9.

https://drive.google.com/file/d/12DR46ADqpJ1Lowvt-O7kEMLP01QbSQcH/view?usp=drive_link


Puzzle – 9 Diamonds

Hints:

The smallest the right hand sum can be is 6.

6 = 1 + 2 + 3 cannot work with the middle sum.

7 = 1 + 2 + 4 cannot work with the middle sum.

8 = 1 + 2 + 5 cannot work with the middle sum.

There are a total of four solutions.

https://drive.google.com/file/d/1TRw_7as5DlB9AbL4Fw4jM34K6LNE32bS/view?usp=drive_link


Puzzle – 9 Hearts

Hints:

C + 8 cannot be more than 9.

F + F must be 14.

https://drive.google.com/file/d/1GM6XGavIa70hb1HCOs3Rn6TJGxdTc3gt/view?usp=drive_link


Puzzle – 9 Spades

Hints:

Going from the Start to the 3 does not work.

Is there more than one solution?

https://drive.google.com/file/d/1RAYl8_KTCo6Q5anoHKXCE2IQFMkNTMmG/view?usp=drive_link


Puzzle – 10 Clubs

Hints:

For the first expression, the target value is 6, 
which is less than 10, and we do not need to 
use negative numbers.

For the second expression, one way to get 6 is 
to multiply 1 times 2 times 3.

https://drive.google.com/file/d/1hjp9G87kai90bC-YA5FngOBy3OPSEfIy/view?usp=drive_link


Puzzle – 10 Diamonds

Hints:

Decide which numbers go in the ones column 
and which in the tens column. The pairings to 
create the 2-digit numbers do not matter.

The carry from the ones column will either be 
0 or 1.

The numbers 1 to 6 add up to 21. If the tens 
column adds up to 9 or 10, the ones column 
will add up to 12 or 11 (respectively).

https://drive.google.com/file/d/11TnK-i_v8nS9dV36VXUso7YCoGTpGMiT/view?usp=drive_link


Puzzle – 10 Hearts

Hints:

In both puzzles, the carry into the tens place 
must be 1.

https://drive.google.com/file/d/1RZaHwemCFGZuUlR29mynaBSTX07rrXIy/view?usp=drive_link


Puzzle – 10 Spades

Hints:

Sometimes, going backward from the answer 
works better than going forward from the start. 
There is only one square that can go to the $$ 
directly.

The 1 in the middle of the bottom row is the 
only square that goes directly to the $$. There 
is only one square that can get to that 1, and 
there is only one square that can get to that 
square.

https://drive.google.com/file/d/1vq3LAJtEVznmW8RAsfLM5-YexosCXUig/view?usp=drive_link


Puzzle – J Clubs

Hints:

Compare the top row with the diagonal starting in 
the upper left. 8 + 1 + (top right corner) is equal to 
8 + 2 + (middle). So the middle must be one less 
than the top right corner.

https://drive.google.com/file/d/1fyHcsLQ7-I1klsQeMlKKvf4MRU302ct4/view?usp=drive_link


Puzzle – J Diamonds

Hints:

Don’t jump around the diagram. Start at one 
region and work from there.

https://drive.google.com/file/d/1qpYlcAqZNI8-OhgXEEIsL_jWYgaMl2fI/view?usp=drive_link


Puzzle – J Hearts

Hints:

In the leftmost puzzle, the carry is either 1 or 
2. In the rightmost puzzle, the carry is 0.

https://drive.google.com/file/d/1Wris02v_h-GNwZPwRuI4F-kx6fbZjHP2/view?usp=drive_link


Puzzle – J Spades

Hints:

The two sides under the 24 are evenly 
balanced, so each side is 12.

https://drive.google.com/file/d/1hWdhrbluVvhmXpW6kuIOpV0svm3hP5F5/view?usp=drive_link


Puzzle – Q Clubs

Hints:

The three rows will involve all the numbers 
from 1 to 9, so they will add up to 45. The 
three rows have the same sum, so the 
common sum must be 15.

https://drive.google.com/file/d/1MnWyITN758hFtcGnUMWLib9pIF-z3MQl/view?usp=drive_link


Puzzle – Q Diamonds

Hints:

There are shapes, sizes, and colors to use in 
your descriptions.

https://drive.google.com/file/d/1-rSuoPkm80sRqutAkIv2cyXSBmIgnkzf/view?usp=drive_link


Puzzle – Q Hearts

Hints:

The 6 cannot be the difference of any of these 
numbers, so it must be in the bottom row.

The 5 is either above the 1 and 6, or it is in the 
bottom row.

Can you find more than one solution?

https://drive.google.com/file/d/1Moqk6DXKm778eQjM53KRFYnbb8k1HKGE/view?usp=drive_link


Puzzle – Q Spades

Hints:

The squares on the left side add up to 6.

The sum of 6 plus the triangle on the right 
balances with the three triangles on the left.

https://drive.google.com/file/d/1feb1NTZAWKrFbu2pHAz9f585rFWVepeC/view?usp=drive_link


Puzzle – K Clubs

Hints:

The three rows will involve all the numbers 
from 0 to 8, so they will add up to 36. The 
three rows have the same sum, so the 
common sum must be 12.

There are four lines that go through the center. 
If you add up the four lines, that will be four 
12’s which is 48. Those four lines contain all 
the numbers 0 to 8 once, plus the center 
square three extra times. The numbers from 0 
to 8 add up to 36. So, 48 = 36 + 3 (center). So 
the center square is 4.

https://drive.google.com/file/d/1TQ5cytP51KQL35z9JwjTmwsnKr6hwQAX/view?usp=drive_link


Puzzle – K Diamonds

Hints:

A tempting first stab is to put five X’s along the 
top row and the left side. However, it is 
possible to put six X’s in this grid.

If there are three X’s in any row or column, 
you won’t be able to put more than a total of 
five X’s.

https://drive.google.com/file/d/1wpssqf-Y1zil5X43BEvFUaVleJjy1Kmx/view?usp=drive_link


Puzzle – K Hearts

Hints:

The 10 cannot be the difference of any of 
these numbers, so it must be in the bottom 
row.

The 9 is either above the 1 and 10, or it is in 
the bottom row.

Looking where 7 and 8 will go helps a lot. 
Though not obvious, it turns out that 8 must be 
in the bottom row.

Can you find more than one solution?

https://drive.google.com/file/d/1tXwywzHp38DKT_XB-3XxmwGLXWfxYX8-/view?usp=drive_link


Puzzle – K Spades

Hints:

Be organized! There are five possibilities for placing 
the numbers 1 to 4: (1 2 4) - (3); (1 2) - (3 4); (1 3) -
(2 4); (1 4) - (2 3); and (1) - (2 3 4).

Is there more than one best solution?

https://drive.google.com/file/d/1HwpId8xB2h5m-DKBz_9Lf3DGVl4Gm43c/view?usp=drive_link
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